MEMORANDUM

TO: Authority Board Members

FROM: Claude Miller laule / will

Director of Procurement

DATE: September 23, 2014

RE: Award of Contract

S.R. 528, S.R. 429, S.R. 451 and S.R. 414 Landscape Maintenance

Contract No. 001050

In accordance with the approved Procurement Policy and Procedure for an invitation to bid, the Procurement Department opened sealed bids for the referenced project on September 17, 2014. This project will provide landscape and turf maintenance, mowing, fertilizer application, insect/disease control, tree pruning, tree removal, watering, edging, mulching, irrigation system maintenance and litter removal along the referenced roadways for a three-year period.

Bid Amount

Bid results were as follows:

Bidder

1.	Commercial Companies, Inc.	\$5,177,540.00
2.	Groundtek of Central Florida, LLC	\$6,640,402.74

The cost estimate for this maintenance project is \$5,518,145.61.

The Procurement Department has evaluated both bids and has determined that both bids are responsible and responsive to the bidding requirements. Since less than three bids were received, the Procurement Procedures Manual requires that the Deputy Executive Director and the Director of Procurement meet to discuss the Authority's options to either reject the bids and re-bid the project or recommend award of the contract. That meeting took place on September 17, 2014, with the Director of Construction and Maintenance representing the Deputy Executive Director and the Manager of Procurement representing the Director of Procurement. The results of the meeting were included in a memo to the Interim Executive Director recommending that the contract be awarded to Commercial Companies, Inc. The Interim Executive Director accepted the recommendation.

Board award of the contract to Commercial Companies, Inc., is hereby requested.

cc: Joe Berenis, Deputy Executive Director, Engineering, Operations, Construction and Maintenance Laura Kelley, Deputy Executive Director, Finance and Administration Ben Dreiling, Director of Construction and Maintenance Contract File

MEMORANDUM

TO:

Joseph A Berenis, P.E.

Interim Executive Director

FROM:

Ben Dreiling, P.E

Director of Construction and Maintenance

Robert Johnson

Manager of Procurement

SUBJECT:

S.R. 528, S.R. 429 and S.R. 414 Landscape Maintenance

Contract No. 001050

Recommendation for Award of Contract

DATE:

September 17, 2014

On September 17, 2014, two (2) sealed bids were opened for the subject project:

Bide	<u>der</u>	Bid Amount
1.	Commercial Companies, Inc.	\$5,177,540.00
2.	Groundtek of Central Florida, Inc.	\$6,640,402.74

The Cost Estimate for the musicat manner of her the Maintenance Demontrary

The Cost Estimate for the project prepared by the Maintenance Department is \$5,518,145.61.

The low bid was reviewed by the Procurement Department and was found to be responsible and responsive to the bidding requirements. Since this was a lump sum bid for maintenance work, the Landscape Architect reviewed the schedule of values and reported that the prices for the items of work included in the lump sum bid were very favorable for the Authority when compared to prices currently being paid for similar items under the other landscape maintenance contract that was awarded in 2011.

Since less than three bids were received, the Procurement Procedures Manual requires that the Deputy Executive Director and the Director of Procurement meet to discuss the Authority's options to either reject the bids and re-bid the project or recommend award of the contract. That meeting took place on September 17, 2014, with the Manager of Procurement representing the Director of Procurement and the Director of Construction and Maintenance representing the Deputy Executive Director.

During the meeting we noted that 12 contractors had registered as "primary" to download the bid documents from the Procurement web site. Of these 12, only 3 met the bidding requirement for certification by the Florida Nursery, Growers and Landscape Association (FNGLA) as a Landscape Contractor and of those 3 only 2 submitted bids. The one who did not submit a bid, Servello and Son, indicated that they decided not to bid at this time. Additionally, during the bidding process, the CFX Procurement Department notified Valleycrest, a FNGLA certified landscaper of the solicitation to encourage them to participate who stated that they were not equipped to do highway work.

We considered these facts, the cost to re-bid the project, and whether or not a re-bid would result in more bids and a lower price. Based on these considerations, it is our opinion that rebidding the project would not be in the best interest of the Authority since it probably would not result in more bids or a lower price. Therefore, in accordance with Article V, Procurement Processes, of the Procurement Procedures Manual, we jointly recommend award of Contract No. 001050 to Commercial Companies, Inc.

Accept Recommendation Reject Recommendation	
Joseph A Berenia	
Interim Executive Director	
If rejected, reason(s) for rejection:	

CONTRACT

This Contract No. 001050 (the "Contract"), made this 9th day of October, 2014, between the CENTRAL FLORIDA EXPRESSWAY AUTHORITY, hereinafter called the AUTHORITY and COMMERCIAL COMPANIES, INC., 1555X Dopey Drive, Lake Buena Vista, Florida 32830, hereinafter the CONTRACTOR:

WITNESSETH: The CONTRACTOR shall, for the consideration herein mentioned and at its cost and expense, do all the work and furnish all the materials, equipment, supplies and labor necessary to perform this Contract in the manner and to the full extent as set forth in the Contract Documents (and under security as set forth in the attached Performance and Payment Bond) all of which are hereby adopted and made part of this Contract as completely as if incorporated herein. The Contract shall be performed to the satisfaction of the duly authorized representatives of the AUTHORITY, who shall have at all times full opportunity to inspect the materials furnished and the work done under this Contract.

The work to be done under this Contract includes maintenance of all items associated with Contract No. 001050, S.R. 528, S.R. 429, S.R. 451, and S.R. 414 Landscape Maintenance, as detailed in the Contract Documents and any addenda or modifications thereto. Contract time for this project shall be three (3) years with renewal options. The Contract Amount is \$5,177,540.00. This Contract was awarded by the Authority's Board of Directors at its meeting on October 10, 2014.

The Contract Documents consist of:

- 1. The Contract,
- 2. The Memorandum of Agreement,
- 3. The Addenda, modifying the Scope of Services or other Contract Documents.
- 4. The Scope of Services, including Attachments,
- 5. The Method of Compensation, and
- 6. The Proposal.

In consideration of the foregoing premises, the AUTHORITY agrees to pay the CONTRACTOR for work performed and materials furnished at the unit and lump sum prices, and under the conditions set forth, in the Proposal.

IN WITNESS WHEREOF, the authorized signatures named below have executed this Contract on behalf of the parties on the date set forth below.

CENTRAL FLORIDA EXPRESSWAY AUTHORITY

By:	
Director of Procurement	
DATE:	
COMMERCIAL COMPANIES, INC.	
By:	
Print Name:	
Title	
ATTEST:	(Seal)
DATE:	
Approved as to form and execution, only.	
General Counsel for the AUTHORITY	
	_

MEMORANDUM OF AGREEMENT

PLANS, SPECIFICATIONS AND DOCUMENT REVIEW MEETING September 18, 2014

This PLANS, SPECIFICATIONS AND DOCUMENT REVIEW MEETING MEMORANDUM ("Memorandum") for the SR 528, SR 429, SR 451, and SR 414 Landscape Maintenance is made and entered this 18 day of September, 2014 by and between the CENTRAL FLORIDA EXPRESSWAY AUTHORITY ("Authority"), a public body politic and corporate agency of the State of Florida, organized and existing under Chapter 63-339 Laws of Florida, 1963 and the apparent successful responsive bidder, Commercial Companies, Inc. ("Contractor"), a Florida corporation with offices at 1555X Dopey Drive, PO Box 220550, Lake Buena Vista (Individually, Party and collectively, Parties)

WITNESSETH THAT:

WHEREAS, the Authority will enter into an agreement with Commercial Companies, Inc. to maintain SR 528, SR 429, SR 451, and SR 414, pursuant to the execution of this Memorandum;

WHEREAS, the Authority has solicited the Services of the Contractor to provide labor, equipment and materials ("Services") to maintain *SR 528, SR 429, SR 451, and SR 414 Landscape*, and the Contractor has agreed to provide such Services in accordance with their tender of September 17, 2014.

WHEREAS, the Section generally consists of the construction of the SR 528, SR 429, SR 451, and SR 414 Landscape Maintenance, which includes SR 528, SR 429, SR 451, and SR 414 Landscape Maitenance.

WHEREAS, the Contractor is qualified, capable, and willing to provide the Services;

NOW, THEREFORE, the Parties mutually agree as follows:

1. PLANS, SPECIFICATIONS AND DOCUMENT REVIEW MEETING

A meeting was held on September 18, 2014 between 1130-1230 hrs in accordance with Paragraph 3.4, Page GS-37, Errors or Omissions in Plans or Specifications, of the Invitation to Bid, Instructions to Bidders, General Specifications, Technical Specifications, Special Provisions, Contract and Public Construction Bond for SR 528, SR 429, SR 451, and SR 414 Landscape Maintenance dated together with Addendum No. 1. The purpose of this meeting was to address all questions or differences in interpretations of the documents and to provide clarifications. The Contractor's key personnel together with the Authority's representatives, as identified in Attachment A, List of Attendees attended this meeting.

2. PROCEDURES

At this meeting each page of the plans, specifications and other Contract Documents, which were used by the Contractor in preparing their offer, was reviewed. Items that could be the cause of potential claims were identified and the Authority will make such corrections and interpretations, as the Authority deems necessary, to reflect the intent of the plans and specifications.

3. ITEMS DISCUSSED AND AGREED TO

- A. The Contractor acknowledged that although no dollar amount was listed for SR 414 Annual Pine Straw bark mulch application in the submitted bid form, the costs to provide the services are included in the Contract total bid.
- B. If required due to a lack of previous maintenance prior to Contract start, clean-up of the existing limits of work (including weeding, litter/debris removal, mowing/ edging/ trimming, etc.) will be performed by the Contractor as directed by the CFX Landscape Architect at a negotiated price, and paid for from the Work Order/ New Construction Allowance.
- C. The requested start date of Monday, November 3, 2014 is approved contingent upon CFX Board Approval and successful execution of the Contract documents.

4. EXECUTION

It is agreed and understood by the Parties that the execution of this Memorandum and its effectiveness is contingent upon execution of the Prime Agreement by and between the Authority and Contractor. Except as noted in Item A above, the Contractor by signing this document certifies as required by Article 3.4 of the General Specifications, that there are no known errors or omissions in the Plans, Specifications or other Contract documents.

IN WITNESS WHEREOF, this Agreement has been executed by the Authority and the Contractor, effective from the day and year first written above.

CENTRAL FLORIDA EXPRESSWAY AUTHORITY

By:

Bernard V. Dreiling, P.E

Director of Construction and Maintenance

Williage

Commercial Companies, Inc.

By

Page 2 of 5

CG-P10 February 2006

Collin Johnson
Vice President

Witness

This MOA is considered the written minutes for this duly noticed meeting held on September 18, 2014, commencing at 1130hrs. at the CFX Administrative Bldg., Orlando, Florida. In accordance with FS 286.013(b)1 and FS 286.0113(2)(c)1 this meeting was exempt from the public and recorded in its entirety.

ATTACHMENT A

CENTRAL FLORIDA EXPRESSWAY AUTHORITY SR 528, SR 429, SR 451, and SR 414 Landscape Maintenance PROJECT NUMBER: 0001050 PLANS, SPECIFICATIONS AND DOCUMENT REVIEW MEETING

LIST OF ATTENDEES

[Date of Meeting]

NAME	ADDRESS	PHONE/FAX
1 Colin Johnson	1555x Dopey Dr. Lake Boen Vist P.O. Box 27050 FL 828	6 407-988-9600
2 Domnie Verey	,	407-938-9600
3 BEL BALER	OFINID, FL 32810	401.806.4272
CHIUS BLOODWALL	,	607-625-8625
5		
6		
7		
8		
9		
10		
11		
12		
13		
14		
15		
16		
17		
18		
19		
20		

TO: All Planholders of Record

FROM Claude Miller, Director of Procurement

DATE: August 22, 2014

SUBJECT: S.R. 528, S.R. 429, S.R. 451, AND S.R. 414 LANDSCAPE

MAINTENANCE; Contract No. 001050, - Addendum No. 1

This Addendum forms a part of the Contract Documents and modifies the original bidding documents dated August 2014, as noted below. Acknowledge receipt of this Addendum in the space provided on the Proposal form. Failure to do so may subject the bidder to disqualification. This Addendum consists of 1 page and the following attachment: revised Bid Form.

CHANGES TO THE PROPOSAL

1. **Discard** the original copy of the Bid Form and **replace** it with the revised electronic copy of the Bid Form (Bid Form 001050A1.xls) included with this Addendum. Failure to submit the revised bid form will deem said bid as non-responsive.

CHANGES TO THE SCOPE OF SEVICES

2. On page SS-65, section 11.1; **delete** the last sentence "Payment for the directed plant replacements..." in its entirety.

END OF ADDENDUM NO. 1

. 528	(Be	ach Line Expressway)						1
		ement Costs		\mp			- :	
		- Application (cycles / year)	Approximate Cycle Area / Qty		Total Cycles / 3 Years	Approx 3 Yr Total Area / Qty		Total Cost / 3 Years
		ng, Edging, Trimming, Clipping Clean Up Main Toll Plazas (40 Cycles)	50,500	sf	120	6,060,000 sf	\$	
		r Removal Main Toll Plazas (40 Cycles)	50,500	sf	120	6,060,000 sf	s	
-		t/Disease Control Main Toll Plazas - Fireants	50,500	sf	51	2,575,500 sf	s	
	Weed	Control	35,500	-			ļ	HIIIIIIIIIII.
ľ		"No-Mow" Areas (3 cycles) A.1 S.R. 528 / Tradeport Drive	15,000	-	9	135,000 sf	S	
	$\overline{}$	A.2 S.R. 528 / S.R. 417 Interchange A.3 S.R. 528 / Goldenrod Rd	61,000 214,500		9	549,000 sf 1,930,500 sf	S	
		A.4 S.R. 528 / Dallas Bivd.	34,500		9	310,500 sf	S	
		lization Toll Plazas (16-0-8) (1 cycle)	50,500	sf	3	151,500 ea	5	
	В.	Fertilizer Analysis (16-0-8) (1 test)	1	ea	3	3 ea	S	<u></u>
-1			S.R	. 528	Turf Managem	ent Total / 3 Years	S	3
ndana		Maintenance Costs		+			\perp	
		- Application (cycles / year)	Approximate Cycle Area / Qty	+	Total Cycles / 3 Years	Approx 3 Yr Total Area / Qty		Total Cost / 3 Years
		ek Maintenance (17 cycles)						HIHIHIHI
	Weed Pruni	ling, Pruning, Staking, Litter / Debris Removal (17 cycles)	1,746,000	sf	51	89,046,000 sf	\$	Millian Indiana
	A.	Shrub - Annual (1 cycle) Palms (2 cycles)	1,425,000		3 6	4,275,000 sf 132 ea	\$	
	C.	Crape Myrtles (1 cycle)		ea	3	9 ea	5	
-+		lization Fertilizer Analysis (13-2-13) (3 tests)		ев	9	27 ea	5	
		Omamental Trees & Shrubs (13-2-13) (3 cycles) Plumbago & Dune Sunflower (10-30-20) (6 cycles)	1,746,000 193,500		9	15,714,000 sf 3,483,000 sf	3	6
	Weed	Pre-Emergence Herbicide to Beds / Tree Rings (Pennant, Gallery) (2			- 1			dillillillillillillillillillillillillill
	Α.	cycles)	1,746,000	sf	6	10,476,000 sf	1	;
		h Application Pine Straw Mulch to Planting Beds & Tree Rings (1 cycle)	189,500	sy	3	568,500 sy	1	
		Bark Mulch to Beds / Tree Rings at Toll Plazas, Ramp Toll Booths (1 cycle)	4,000		3	12,000 sy		
	Insec	t/Disease Control						mmmmm
		Fireant Control (Extinguish) (17 cycles) Cord Grass, Fakahatchee Grass, Dwarf Fakahatchee Grass, Gulf	1,746,000	sf	51	89,046,000 sf	1	
		Muhly Grass, Vetiver Grass (Ultra-Fine Oil) (1 cycle) All Plant Material (except ornamental grasses and coontie palms) at	985,000	sf	3	2,955,000 sf		5
		Main Toll Plazas (Ultra-Fine Oil) (2 cycles)	11,500	sf	6	69,000 sf		s
		All Plant Material (except ornamental grasses and coontie palms) at Main Toll Plazas and Dune Sunflower (Banrot40WP) (2 cycles)						
	-	(Subdue Maxx) (2 Cycles) All Plant Material (except ornamental grasses and coontie palms) at	20,500	st	12	246,000 sf	H	
		Main Toll Plazas and Dune Sunflower (mixture of 'Cleary's 3336' with 'Flowable Macozeb') (4 cycles)	20,500	-e	12	246,000 sf		
	F.	All Plant Material (except ornamental grasses and coontie palms) at	20,300	SI	12	246,000 \$1	H	<u> </u>
		Main Toll Plazas and Dune Sunflower (Heritage) (2 cycles) All Plant Material (except ornamental grasses) at Main Toll Plazas	20,500	sf	6	123,000 sf		\$
	G.	and Oleander, Fakahatchee, Coontie, Fire Bush, Confederate Jasmine, and Plumbago (Merit 2F) (2 cycles)	401.500	-6		2 949 000 of		e
	H.	All Plant Material (except ornamental grasses and coontie palms) at	491,500		6	2,949,000 sf	H]
	1.	Main Toll Plazas and Plumbago (Conserve SC) (2 cycles) All Plant Material (except ornamental grasses and coontie palms) at	195,000	st	6	1,170,000 sf	H	>
		Main Toll Plazas and Plumbago (Ardent) (1 cycle) All Plant Material (except ornamental grasses and coontie palms) at	195,000	sf	3	585,000 sf		s
		Main Toll Plazas and Plumbago (Tristar & Lure) (1 cycle)	195,000		3	585,000 sf		s
		Confederate Jasmine (Ultra-Fine Oil) (2 cycles) Confederate Jasmine (Ardent) (2 cycles)	21,500 21,500	-	6 6	129,000 sf 129,000 sf		\$ \$
	M.	Coontie (Ultra-Fine Oil) (4 cycles)	7,500		12	90,000 sf		S
		Fakahatchee Grass, Dwarf Fakahatchee Grass, Vetiver Grass - 2nd Prune (Ardent) (2 cycles)	220,000	sf	6	1,320,000 sf		s
_	O. P.	Oleander (Ultra-Fine Oil) (1 cycle) Oleander and Fire Bush (Bifen IT) (2 cycles)	134,000 150,000	sf	3 6	402,000 sf 900,000 sf		\$
	Q.	Plumbago (Ultra-Fine Oil) (2 cycles)	157,000	sf	6	942,000 sf	П	\$
	R. S.	Crepe Myrtles (Banrot40WP) (2 cycles) (Subdue Maxx) (2 Cycles) Crepe Myrtles (Heritage) (2 cycles), (mixture of 'Cleary's 3336' with		ea	12	36 ea	П	S
	T.	Flowable Macozeb') (2 cycles) Crepe Myrtles (Merit 2F) (2 cycles)		ea ea	6	36 ea		\$ \$
	U.	Crepe Myrtles (Tristar) (2 cycles)		ea	6	18 ea 570 ea		\$
		Magnolias (Kocide 101) (2 cycles) Magnolias (Ultra-Fine Oil &		ea	9	855 ea		s
	X.	Pindo Palms - (Subdue Maxx) (4 cycles)	22	ea	12	264 ea		S
	Y. Z.	Pindo Palms - (Banrot 40WP) (4 cycles) Pindo Palms - (Merit 2L) (2 cycles)		ea	6	264 ea		S
		gation System						
	A.	Inspection & Maintenance at (1) Main Toll Plaza (1 per month)		ea ea	36 36	36 ea		s
-	B.	Report (1 per month)		ea	96	30 82	+	
		<u> </u>		٠.				

			1 (Daniel Webster West	- Deleving)			=			\equiv		<u>i</u>
			nt Costs		·			1			i_	
	Task	- App	lication (cycles / year)		1	Approximate Cycle		Total Cycles /	Approx 3 Yr Total		- 1	Total Cost / 3 Years
	Mose	ing F	dging, Trimming, Clipping	Clean Un	 	Area / Qty		3 Years	Area / Qty	1 1	+	mmmmmm
			Toll Plazas (40 Cycles)	Cicai op	 	445,000	sf	120	53,400,000	sf	Ţ,	5
		r Rem										
			Plazas (40 Cycles)		 	445,000	sf	120	53,400,000	sf	- 13	
		t Con	iros Plazas - Fireants (Extinguish) (17 cycles)	 	445,000	ef	51	22,695,000	sf.	٠,	
		d Con		17 Cyclos)		445,000	-	j.	22,055,000	5.	Ť	
			Mow" Areas (3 cycles)								\Box	
			SR 451 / SR 441 - East & W		-	80,000		9	720,000		-	
_			Pond buffers @ West 429 / S Buffer @ East 429 / SR 50 R		-	32,000 37,000		9	288,000 333,000		- 15	<u> </u>
			SR 50 Interchange Slopes	LO.W.	1	255,000		9	2,295,000		-	
			Florida Tumpike - Stoney Br	ook West Rd		160,000		9	1,440,000		- !	5
			Stoney Brook West Rd - SR			86,000		9	774,000		- 1	
			SR 535 - Independence MTF	•	<u> </u>	11,000	sf	9	99,000	sf	_!	
-		lizatio Main	Toll Piazas (16-0-8) (1 cycle)			445,000	sf	3	1,335,000	sf	٠,	
	n.	Ividiii	1011114223 (10-0-0) (1 cycle)			1 445,000	31	+ - +	1,555,000	1	٦Ť	
				S.R.	429 / S.R.	51 Turf Managen	ent T	otal / 3 Years		П	1	s 0
											ī	
dsc			tenance Costs							Ш	i	
	Task	- Appi	lication (cycles / year)		į	Approximate Cycle		Total Cycles /	Approx 3 Yr Total	i	ł	Total Cost / 3 Years
_	7 11/2	ole Ma	aintenance (17 cycles)	<u> </u>		Area / Qty	-	3 Years	Area / Qty	1 1	+	mmmmm
_			runing, Staking, Litter / Debri	s Removal	<u> </u>	2,154,500	cf	51	109,879,500	ef i	٠,	·
	Prun		tuning, Staking, Etter / Debit	5 Kemova	1	2,154,500	31	+	100,000,000	1	Ť	millioni de la companya della companya della companya de la companya de la companya della compan
			- Annual (1 cycle)			1,741,000	sf	3	5,223,000	sf	ال	s
	B.	Palms	s (2 cycles)			220		6	1,320			s
			Myrtles (1 cycle)			125	ea	3	375	ea	_ :	\$
		lizatio	on mental Trees & Shrubs (13-2-	12) (7 minlos)	 	2,154,500	~C	9	19,390,500	-6	-	Zummumm
			bago, Lantana, Dune Sunflow		<u> </u>	286,000		18	5,148,000			8
_		d Con						 	.,,	П		THIRD THE STATE OF
	A.	Pre-E	mergence Herbicide to Beds /	Tree Rings (Pennant, Gallery)	1							1
		(2 cyc	cles)	-	-	2,154,500	sf	6	12,927,000	sf		s
	Mule	h Ap	plication			1 112			1			
	A.	Pine S	Straw Mulch to Planting Beds	& Tree Rings (1 cycle)		212,000	sy	3	636,000	sy		s
				t Toll Plazas, Ramp Toll Booths		İ						
		(1 cyc	cle)			27,000	sy	3	81,000	sy		s
			ease Control								_	MIIIIIIIIII
			nt Control (Extinguish) (17 cy			2,154,500	sf	51	109,879,500	sf		<u>\$</u>
		(1 cyc		ulf Muhly Grass (Ultra-Fine Oil)							İ	
		 _		Main Tall Diame	-	1,100,000	sf	3	3,300,000	st	\dashv	\$
	C.		iant Materiai (except omamen a-Fine Oil) (2 cycles)	tal grasses) at Main Toll Plazas		14 500	-6	6	87,000			s
	D.	<u> </u>		tal grasses) at Main Toll Plazas,		14,500	SI	0	87,000	Si	-	3
	D.		ma, and Dune Sunflower	iai grasses) at iviani 1011 Frazas,		1		1				
			rot40WP) (2 cycles) (Subdue I	Maxx) (2 Cycles)		16,000	sf	12	192,000	sf		s
	E.	All P	lant Material (except ornamen	tal grasses) at Main Toll Plazas,				1 1	1	-		
			ana, and Dune Sunflower	,								
		(mixt	ture of 'Cleary's 3336' with 'Flo	owable Macozeb') (4 cycles)		16,000	sf	12	192,000	sf		s
	F.	Ali P	lant Material (except ornamen	tal grasses) at Main Toll Plazas,	1					1		
	1	Lanta	ana, and Dune Sunflower (Her	itage) (2 cycles)		16,000	sf	6	96,000	sf		s
	G.	Ali P	lant Material (except ornamen	ital grasses) at Main Toll Plazas	İ							
				e, Fire Bush, Confederate Jasmine						1		
		Lanta	ana, and Plumbago (Merit 2F)	(2 cycles)	i	561,000	sf	6	3,366,000	sf		s
	H.	All P	lant Material (except ornamen	tal grasses) at Main Toll Plazas,								
		Plum	bago, and Lantana (Conserv	e SC) (2 cycles)		287,500	sf	6	1,725,000	sf		s
	L			tal grasses) at Main Toll Plazas,								
	_		bago, and Lantana (Ardent)			287,500	sf	3	862,500	sf		\$
	J.	1		tal grasses) at Main Toll Plazas,					1			
	20		bago, and Lantana (Tristar & ederate Jasmine (Ultra-Fine O			287,500		6	862,500 33,000		Н	<u>s</u>
	L.		ederate Jasmine (Ultra-Fine O ederate Jasmine (Ardent) (2 c		-	5,500		6	33,000			\$
	M.		hatchee Grass, Vetiver Grass		 	115,500		6	693,000			\$
	N.		nder (Ultra-Fine Oil) (1 cycle)			113,500		3	340,500			S
	H.	Olea	nder (Bifen IT) (2 cycles)			113,500	sf	6	681,000			\$
	0.		bago (Ultra-Fine Oil) (2 cycle			283,500		6	1,701,000			5
	P.			ycles) (Subdue Maxx) (2 Cycles)	 	125	ea	12	1,500	+	\vdash	S
	Q.		e Myrtles (Hentage) (2 cycles vable Macozeb') (2 cycles)), (mixture of 'Cleary's 3336' with			ea	12	1,500			d
	R.		e Myrtles (Merit 2F) (2 cycles)	e)	+		ea	6	750		Н	5
	S.		e Myrtles (Tristar) (2 cycles)	Ť	1		ea	6) ea		s
			System							ľ		
	A.		ection & Maintenance at (2)				ea	36		2 ea		s
_	B.	Repo	orts (1 per month)				ea	36		2 ea		\$
			1	S.R. 429 /	S.R. 451 L	andscape Mainten	ance	Total / 3 Years		1		\$

					_					
Мап	age	ement Costs	i		1		i		<u>i</u>	
Ta	sk -	Application (cycles / year)		Approximate Cycle Area / Qty	1	Total Cycles / 3 Years	Approx 3 Yr Total Area / Qty		1	Total Cost / 3 Years
M		ng, Edging, Trimming, Clipping Clean Up						\Box	\Box	
A.		Foll Plazas (40 Cycles)		136,500	sf	120	16,380,000	sf	_ S	4
		Removal	_!				<u> </u>	\sqcup		Allillillillilli
A.	1	Toll Plazas (40 Cycles)	:	136,500	sf !	120	16,380,000	sf	S	il
In	sect	Control			-					HIHHHHH
A.	1	Toll Plazas Fireants (Extinguish) (12 cycles)		136,500	sf	36	4,914,000	sf	5	<u>il</u>
W	eed	Control							\perp	
A.	n	'No-Mow" Areas (3 cycles)						Ш		
	ŀ	A.1 North Roadside Buffers		248,500		9	2,236,500		\$	<u> </u>
	A	A.2 South Roadside Buffers		172,000	sf	9	1,548,000	sf	5	<u> </u>
Fe		ization						\sqcup		VIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
A.	7	Toll Plazas (16-0-8) (1 cycles)		136,500	sf	3	409,500	sf	S	5
							1	Ш	_	
				S.R	414	Turf Manageme	ent Total / 3 Years	Ш	S	S
									┙	
scap	e M	Saintenance Costs		!						
Ta	ısk -	Application (cycles / year)		Approximate Cycle		Total Cycles /	Approx 3 Yr Total	П		Total Cost / 3 Years
-		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1	Area / Qty	i	3 Years	Area / Qty		i	1
13	Wee	ek Maintenance (17 cycles)		1	\dashv	1 1	1	П	7	MITHINITIN
A		Weeding, Pruning, Staking, Litter / Debris Removal	-	243,000	sf	51	12,393,000	sf	19	۲
B.		Pruning, Staking, Litter / Debris Removal - Buffers	+	420,500		51	21,445,500		1	s
	runi			120,500	-	+	1 21,710,000	-	+	THINITINIA TO THE PARTY OF THE
A		Shrubs - Annual (1 cycle)	+	84,000	cf .	3	252,000	sf	- 19	zi
		ization	+	- 01,000	-	+		-		THIRD THE STATE OF
A		Ornamental Trees & Shrubs (13-2-13) (3 cycles)	+	283,500	e c	9	2,551,500	cf	1,	<i>4</i>
B.		Plumbago (10-30-20) (6 cycles)	+	62,000		6	372,000		٦,	śl-
		Control		02,000	31	+	3.2,000	3.		ummmmh
A.		Pre-Emergence Herbicide to Beds / Tree Rings (Pennant, Gallery)	2 cucles)	243,000	cf	6	1,458,000	cf	٦.	<u> </u>
		h Application	- Cycles)	245,000	3.		1,150,000			minimizing.
_		Pine Straw Mulch to Planting Beds & Tree Rings (1 cycle)		23,500	<u></u>	3	70,500		9	<u> </u>
A.			(21-)			3	10,500			* l
B.		Bark Mulch to Beds / Tree Rings at Toll Plaza , Ramp Toll Booths	i cycle)	3,500	sy		10,300	Sy	H	
-		t/Disease Control		742 000	-6		12 202 000	1.0	Н,	Millillillillillillillillillillillillill
A		Fireant Control (Extinguish) (17 cycles)		243,000	$\overline{}$	51	12,393,000	+	H^{3}	<u> </u>
B.	\rightarrow	Gulf Muhly Grass (Ultra-Fine Oil)		17,500	sf	3	52,500	sf	1	
C.	.]	All Plant Material at Main Toll		4,500	sf	6	27,000	sf	1	s <u></u>
D	. 1.	All Plant Material at Main Toll Plaza			7			1	1	
		(Banrot40WP) (2 cycles) (Subdue Maxx) (2 Cycles)		4,500	ef	12	54,000	ا عوا		s
		All Plant Material at Main Toll Plaza		4,500	-	- ·- ·	5 1,000	<u>.</u>	H	
E.										l
-	-	(mixture of 'Cleary's 3336' with 'Flowable Macozeb') (4 cycles)		4,500	sf	12	54,000	sf		\$
F.	.].	All Plant Material at Main Toll Plaza (Heritage) (2 cycles)	i	4,500	sf	6	27,000	sf	:	s
G		All Plant Material at Main Toll Plaza and Coontie, Fire Bush,							П	
-		Confederate Jasmine, and Plumbago (Merit 2F) (2 cycles)		103,500	sf	6	621,000	sf	1 1	s
Н	\rightarrow	All Plant Material at Main Toll Plaza and Plumbago	-	103,500	-		1,	+-	1	
n		(Conserve SC) (2 cycles)	İ				399,000			اء
\perp	\rightarrow	·		66,500	sı	6	399,000	SI	H	<u> </u>
L	- 1	All Plant Material at Main Toll Plaza and Plumbago	1	į				1.		
_	\rightarrow	(Ardent) (1 cycle)		66,500	sf	3	199,500	sf	Ш	5
J.		All Plant Material at Main Toll Plaza and Plumbago		1						
	- 1	(Tristar & Lure) (1 cycle)		66,500	sf	3	199,500			s
K		Confederate Jasmine (Ultra-Fine Oil) (2 cycles)		7,000	sf	6	42,000	sf		5
L		Confederate Jasmine (Ardent) (2 cycles)		7,000	sf	6	42,000	sf		S
M		Coontie (Ultra-Fine Oil) (4 cycles)		15,000	sf	12	180,000	sf	П	5
N		Junipers (Torulosa, Cedar) (Ultra-Fine Oil) (2 cycles)		47	ea	6	282	ea.		s
0		Junipers (Torulosa, Cedar) (Banrot40WP) (2 cycles) (Subdue Ma:	x)	T				Γ	П	
1		(2 Cycles)	-	AT	ea	12	564	l ea		la
P		Junipers (Torulosa, Cedar) (mixture of 'Cleary's 3336' with 'Flowal	le l	+	-	 	1	1~	П	1
1		Macozeb') (4 cycles)			_	1				el .
+-	_	, , , , , , , , , , , , , , , , , , ,	+		ea	12		l ea		\$
Q		Junipers (Torulosa, Cedar) (Heritage) (2 cycles)			ea	6				5
R		Fire Bush (BifenIT) (2 cycles)		15,000		6	90,000			
S		Plumbago (Ultra-Fine Oil) (2 cycles)		62,000		6	372,000			\$
T		Magnolias (Kocide 101) (2 cycles)	$\overline{}$		ea	6		5 ea		\$
U		Magnolias (Ultra-Fine Oil & Cleary's 3336) (3 cycles)		I	ea	9	,	ea ea	\sqcup	\$ CONTRACTOR OF THE STATE OF TH
		ation System						+	Н	
A		Inspection & Maintenance at (1) Main Toll Plaza (1 per month)			ea	36		6 ea		5
	s. T	Report (I per month)		1	ea	36	36	6 ea	\sqcup	s
В			1		1 1			1	1 1	()
B		i i		ì	1 1	1	1	1	1	1 1

Repace	men	nt Plant Material Costs							
	Bota	anical Name	Common Name	Size		Quantity	Unit Cost	Total Cost	
1.	Om	namental Grasses			\dashv	 			mmmm
	A.	Spartina bakerii	Sand Cordgrass	1 Gal., 18"- 20" Ht. Min., Full		8,000	S	s	0.0
	B.	Tripsacum dactyloid	Fackahatchee Grass	1 Gal., 18"- 20" Ht. Min., Full				s	0.0
2.	Shr	ubs and Groundcovers							
	A.	Hamelia patens 'Dwarf'	Dwarf Firebush	3 Gal., 18"- 24" x 15"-18"		8,000	S	S	0.0
	B.	Helianthus debillis	Dune Sunflower	1 Gal., 15"x 15" Ht., Full		500	S	s	0.0
	C.	Myrica cerifera	Wax Myrtle	3 Gal., 24" x 24", Full		5,000	S	s	0.0
	D.	Nerium oleander 'Calypso Red'	Oleander 'Calypso Red'	3 Gal., 18"-24" x 18"-24"		3,000	\$	s	0.0
	E.	Nerium oleander 'Petite Pink'	Dwarf oleander 'Petite Pink'	3 Gal., 18"-24" x 18"-24"		2,000	S	s	0.04
	F.	Plumbago capensis	Plumbago 'Imperial Blue'	3 Gal., 18"-24" x 18"-24", Full		15,000	\$	s	0.00
	G.	Russelis equisetiformis	Firecracker Plant	3 Gal., 24" Ht., Full		2,000	S	S	0.0
	H.	Serenoa repens	Saw Palmetto	7 Gal., 18"-24" Sprd.		400	S	s	0.0
	I.	Trachelospermum jasminoides	Confederate Jasmine	1 Gal., 16"-24" x 16"-24", Full		10,000	2	s	0.0
	J.	Zamia pumila	Coontie Palm	3 Gai., 18" Ht., Full		1,000	S	S	0.0
3.	Tre			1 ,		*,***	<u> </u>	Time!	immmm
	A.	Acer rubrum	Flame Red Maple	15 Gal., 8'- 10' Ht., 1 1/2"- 2" (Cal	1			
	1		Than to the stape	(& Guying)	, w.	60	2		0.0
	B.	Juniperus virginiana 'Silicicola'	Southern Red Cedar	30 Gal., 7'-8' Ht.		60	s	s	0.0
	C.	Lagerstromia indica 'Tuskegee'	Tuskegee Crape Myrtle	30 Gal., 8'-10' Ht., Multi-Truni	.	20	s	s	0.0
	D.	Quercus virginiana	Live Oak	15 Gal.,8'-10' Ht. X 3'-4' Sprd.		1 20	"	+ + 1	0.0
	٥.	Quercus viightalia	Live Oak	Cal. (& Guying)	1 1/2 - 4	60		i i.l	0.00
	E.	Sabal palmetto	Cabbasa Balas		1.1	60	\$	3	0.0
	F.		Cabbage Palm	12'-18' CT (& Staking)	+	30	\$	\$	0.00
		Sabal palmetto	Cabbage Palm	18'-24' CT (& Staking)	بللب	30	\$	S	0.0
	G.	Taxodium distichum	Bald Cypress	15 Gal., 6'- 8' Ht., 1 1/2"- 2" C	al. (&		!] [
	1_			Guying)		60	\$	S	0.0
		Ulmus alata	Winged Elm	30 Gal., 7'-8' Ht.		60	\$	S	0.0
4.	Tu								
	A.	Paspalum notatum	Argentine Bahia Solid Sod	Square Yard		2,500	5	S	0.0
	İ	1 1	1			1 1	1		
-	+	+ -			Panla	coment Plant	Material Cost Total	\$	0.0
	+		· · · · · · · · · · · · · · · · · · ·	-	Керід	Cement I tant P	VIAICIIAI COST TOTAL	1 19	0.0
	1							 	
	ļ	ļ							
	-	<u> </u>							
	1_	1				S.R. 528 Turi	Management Total	S	0.0
		<u> </u>			S.R. 5	28 Landscape	Maintenance Total	S	0.0
	t	-	<u> </u>	 	C D 420 /	C.D. 451 T6	Management Total		0.0
	-	 						S	
		1		S.R. 4	29 / S.R. 4	51 Landscape	Maintenance Total	S	0.0
	Ť-		1			S D 414 Tour	Management Total	s	0.0
	+	+ +		-+					
	1	 	 		S.R. 4	114 Landscape	Maintenance Total	S	0.0
	-	 							
					Repla	cement Plant I	Material Total Cost	S	0.0
					Work Or	der / New Cons	truction Allowance	s	750,000.0
							1 -1	1 I I	
						†	TOTAL AMOUNT	s	750,000.0

TO: All Planholders of Record

FROM Claude Miller, Director of Procurement

DATE: September 10, 2014

SUBJECT: S.R. 528, S.R. 429, S.R. 451, and S.R. 414 Landscape Maintenance;

Contract No. 001050, - Addendum No. 2

This Addendum forms a part of the Contract Documents and modifies the original bidding documents dated August 2014, as noted below. Acknowledge receipt of this Addendum in the space provided on the Proposal form. Failure to do so may subject the bidder to disqualification. This Addendum consists of 2 pages and the following attachment: revised Performance and Payment Bond form.

CHANGES TO THE SCOPE OF SERVICES

1. **Delete** the language in subarticle 2.18.1 in its entirety and **insert** the following new language in its place:

"The Contractor shall furnish to the Authority, and shall maintain in effect throughout the term of the Contract, an acceptable surety bond in a sum equal to the annual amount of the Contract (Contract Amount/5 years). The initial term of the bond shall be from November 2, 2014, through November 1, 2015. The bond shall be renewed each year thereafter until the expiration of the Contract term. Each fully executed renewal bond shall be transmitted to the Authority at least 15 days prior to the expiration of the bond in effect so there is no lapse in coverage. Failure to timely renew the bond may result in the Authority giving notice of default to the Contractor as detailed in Article 2.20 below. Such bond shall be executed on the form furnished by the Authority. The surety shall meet all requirements of the laws of Florida, and shall be approved, and at all times acceptable to, the Authority. The surety's resident agent's name, address, and telephone number shall be clearly stated on the face of the bond."

RESPONSE TO QUESTIONS RECEIVED

- 2. The following questions were received from potential bidders of record. The Authority's response follows each question.
 - Q001: If the current project property is not up to the required maintenance and quality standards when the new contractor take over, who is going to be responsible for this labor and material costs? Should we include a value in our bid as an alternate to replace dead material and eliminate weeds, etc.?
 - R: If the Authority determines that the existing landscaping does not meet the required maintenance and quality standards when the Notice to Proceed for the project is issued, additional work to be performed by the Contractor shall be as

directed by the Authority's Landscape Architect and will be paid for from the Work Order / New Construction Allowance. No additional value should be included in the bid.

- Q002: Is it acceptable to provide a 'new performance and payment bond' each year of the contract in lieu of one bond for the entire three year plus duration?
- R: See Changes to the Scope of Services and revised Performance and Payment Bond form attached to this addendum.
- Q003: Do you have an engineer's estimate of what the total budget for the project currently is?
- R: An engineer's estimate is not available at this time.
- Q004: What is the value of the combined contracts in place for this entire scope?
- R: The amount of the current contract is \$4,593,561.60.

END OF ADDENDUM NO. 2

PERFORMANCE AND PAYMENT BOND

BY THIS BON	D, WE,, as Principal and
	, a corporation,
as Surety, are bo	ound to Central Florida Expressway Authority, herein called Authority, in the sum of
	(\$), for payment of which we bind
ourselves, our h	eirs, personal representatives, successors, and assigns, jointly and severally.
THE CONDITI	ON OF THIS BOND is that if Principal:
1.	Performs the Contract dated 2014, between Principal and Authority for S.R. 528, S.R. 429, S.R. 451 and S.R. 414 Landscape Maintenance, the Contract being made a part of this bond by reference, at the times and in the manner prescribed in the Contract; and
2.	Promptly makes payments to all claimants, as defined in Section 255.05(1), Florida Statutes, supplying Principal with labor, materials, or supplies, used directly or indirectly by Principal in the prosecution of the Work provided for in the Contract; and
3.	Pays Authority all losses, damages, expenses, costs, and attorney's fees, including appellate proceedings, that Authority sustains because of a default by Principal under the Contract; and
4.	Performs the guarantee of all Work and materials furnished under the Contract for the time specified in the Contract, then this bond is void; otherwise it remains in full force.
5.	Any action instituted by claimant under this bond for payment must be in accordance with the notice and time limitation provisions in Section 255.05(2),

Florida Statutes.

Notwithstanding the provisions of the Contract, the term of this bond shall apply from November 2, 2014, to November 1, 2015, and may be extended by the Surety by Continuation Certificate. However, neither non-renewal by the Surety, nor failure or inability of the Principal to file a replacement bond in the event of non-renewal, shall itself constitute a loss to the Authority recoverable under this bond or any renewal or continuation thereof. The liability of the Surety under this bond and continuation certificates issued in connection therewith shall not be cumulative and shall in no event exceed the amount as set forth in this bond or in any additions, riders, or endorsements properly issued by the Surety as supplements thereto. In no event shall Surety's aggregate liability exceed the penal sum of this bond.

Any changes in or under the Contract Documents and compliance or non-compliance with any formalities connected with the Contract or the changes does not affect Surety's obligation under this bond.

*

*

*

*

4

*

4

.

...

.

*

*

*

ITB001050 Addendum 2 September 10, 2014

WITNESS the signature of the Principal (Contractor) and the signature of the

Surety b	у	its
	(Agent or Attorney-in-Fact,	or otherwise)
with the	seals of said Principal and Surety affixed this in the year of 2014.	day of
(Corpora	ation must Affix Seal)	
Ву		
	Title	
Attest: _	Secretary	
	(Place Surety's Corporate Seal)	
	Corporate Surety	
Ву	Attorney-in-Fact	
	Agent	
NOTE:	Power of Attorney showing authority of Sur attached.	ety's Agent or Attorney-in-Fact must be

ITB001050 Addendum 2 September 10, 2014

CERTIFICATES AS TO CORPORATE PRINCIPAL

I,	, certify that I am the Secretary of the Corporation
named as Principal in the within bond; that	who signed the said
bond on behalf of the Principal, was then	of said Corporation; that I know
his signature, and his signature hereto is gen	uine; and that said bond was duly signed, sealed, and
attested for and in behalf of said Corporation	by authority of its governing body.
Secretary	
Corporate Seal	

FOR SURETY

) ss	
COUNTY OF ORANGE)	
	oned, qualified and acting, personally appeared wn, who being by me first duly sworn upon
oath, says that he is the Attorney-in-Fact, for the	
and that he has been authorized by	to execute the
foregoing bond on behalf of the Contractor named the Authority.	rein in favor of the Central Florida Expressway
Subscribed and sworn to before me this day of	, 2014, A.D.
(Attach Power of Attorney)	
Notary Public State of Florida-at-Large My Commission Expires:	

ITB001050 Addendum 2 September 10, 2014

TO: All Planholders of Record

FROM Claude Miller, Director of Procurement

DATE: September 15, 2014

SUBJECT: S.R. 528, S.R. 429, S.R. 451, and S.R. 414 Landscape Maintenance;

Contract No. 001050, - Addendum No. 3

This Addendum forms a part of the Contract Documents and modifies the original bidding documents dated August 2014, as noted below. Acknowledge receipt of this Addendum in the space provided on the Proposal form. Failure to do so may subject the bidder to disqualification. This Addendum consists of 1 page.

CHANGES TO PREVIOUS ADDENDUM

1. In Addendum No. 2 issued September 10, 2014, under the new language for item 1, in the third line **change** "(Contract Amount/5 years)" to "(Contract Amount/3 years)".

END OF ADDENDUM NO. 3

CENTRAL FLORIDA EXPRESSWAY AUTHORITY METHOD OF COMPENSATION S.R. 528, S.R. 429, S.R. 451, AND S.R. 414 LANDSCAPE MAINTENANCE

1.0 PURPOSE

This document describes the limits and method of compensation to be made to the Contractor for the services set forth in the Scope of Services. The services shall be provided over the duration of the work specified in the Contract.

2.0 COMPENSATION

For the satisfactory completion of the services detailed in the Scope of Services, the Contractor will be paid at the prices shown in the Price Proposal for all work completed and accepted by the Authority.

3.0 METHOD OF COMPENSATION

- 3.1 Payment will be made to the Contractor not more than once monthly. The Contractor shall prepare and forward a draft digital copy (via e-mail) of each monthly invoice to the Authority's Director of Construction and Maintenance for review. The draft invoice shall include a pay application spreadsheet and individual Change Proposal Requests (CPR's) for Work Order Allowance /New Construction Allowance payable tasks. Upon approval by the Director of Construction and Maintenance, the Contractor shall submit a signed final copy of the invoice, along with copies of the above noted documents to the Director of Construction and Maintenance for processing. The signed invoice submittal shall also include a Certification of Disbursement of Previous Payments and copies of all purchase tickets for materials used in the performance of the Contract during the month. The Authority shall provide the Contractor with digital files of the standard invoice and Certification of Disbursement forms.
- 3.2 Payment for work completed by the Contractor and accepted by the Authority under the Work Order Allowance/New Construction Allowance will be made not more than once monthly. No work paid for under the Work Order Allowance/New Construction Allowance shall be performed until written authorization is given, or forwarded via email, to the Contractor by the Director of Construction and Maintenance. Any amounts remaining in either the Work Order Allowance/New Construction Allowance upon completion and acceptance of the project remain the property of the Authority.
- 3.3 The method of payment for work completed by the Contractor and accepted by the Authority shall be in which the turf management and landscape maintenance Contract price totals (listed in the Bid Form) are divided into thirty-six (36) equal payments and paid monthly.

- 3.4 The Bid Form reflects the cost of individual maintenance tasks specified in the Contract and shall be used as a basis for payment deducts and additions.
- 3.5 The compensation for the two optional renewal periods will be determined by using the CPI-All Urban Consumers, Not Seasonally Adjusted, South Urban Area, All Items Database. The price increase or decrease for the first renewal period will be determined by the aforementioned CPI percentage between the 16th and 28th month of the Contract term and the second renewal period will be determined between the 28th and 40th month of the Contract term.
- 3.6 Direct deposit of payment to the Contractor is available. If the Contractor elects to receive direct deposit of payments from the Authority, the Authority will provide the Contractor with the necessary Automatic Deposit Authorization Agreement form.
- 3.7 The Authority reserves the right to withhold payment or payments in whole or in part, and to continue to withhold any such payments for work not completed, completed unsatisfactorily, work that is behind schedule or work that is otherwise performed in an inadequate or untimely fashion as determined by the Authority or it's designated representative. Any and all such payments previously withheld shall be released and paid to Contractor promptly when the work is subsequently satisfactorily performed. If any defined action, duty or service or part required by the Contract or a work order is not performed by the Contractor, the value of such action, duty or service or part thereof will be determined by the Authority and deducted from any invoice or monthly billing period claiming such items for payment. In order to expedite the review, processing, and delivery of each month's invoice to the Authority, the Director of Construction and Maintenance, with the approval of the Contractor, may elect to apply any deducted amounts to the following month's invoice total.
- 3.8 If the action, duty or service, part or product thereof has been completed and is determined to be unsatisfactory by the Authority, the Contractor will be notified and given the opportunity to correct any deficiencies within a time certain. Payment (for the unsatisfactory Work) will be withheld by the Authority from any invoice or monthly billing period until such time as the Work is determined to be acceptable.

4.0 ADDITIONAL SERVICES

Additional services outside the scope of the Contract and the resulting compensation for such services shall be implemented by a written Supplemental Agreement in accordance with the Contract. Such work shall not be performed until a Supplemental Agreement has been executed by the Authority and the Contractor.

END OF SECTION